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03 A F=XH S =AY 2,000 2,000 0
O3Eet HEAMHS 2 2,000,000 2,000
206 = Hl 2,600 2,390 210
01 =8l 2,600 2,390 210
OMHZ 22 M= 100,000& » 1038 1,000
O0rds 249 M= 100,000& * 105 1,000
OdZud 2EME 600
OZAZ MW= 100,000& = 35 = 1K 300
OFMEZE ME 100,000& = 3& = 104 300
301 gt d= 35,024 34,592 432
09 SALAHIEA S 35,024 34,592 432
OXESALA Adl XI& 35,024
OSAMEs 2l 10,000& = 16¥ » 200 32,000
Ozl #A&T Sl
7,000& = 16Y = 253 2,800
Od&X A& =l 7,0008 * 24! « 169 224
405 RHoHF S HI 10,700 350 10,350
01 AL EFFH S 10,700 350 10,350
OSS® U (HE SIX 7
300,000& = 204 6,000
QuHIl 24 350,000& * 2CH 700
OEEME Of2 88X & X 72¢
400,000 » 10M E 4,000
2Heh 2 OFM AR Ol & 2tel 36,420 27,250 9,170
201 et 35,670 26,750 8,920
01 At 22l 35,570 26,650 8,920
odJ|ctE 2 e+ = 15,000
O gols = 500,000& = 202 = 123 12,000
Os=s¥ 250,000& » 10 + 123 3,000
OsdJl A==
220,000& = 3CH = 123 7,920
Os&J BIIZA ==&  150,000& * 3MH 450
OFIINE BIZAN =2
800,000& * 3MH 2,400
OM3H A2 HSI| &I Z AtHI
200,000& * 10 200
OMMMUUHXZ2 R Hl+2
800,000& = 102 = 123 9,600
02 =224l 100 100 0
OJtAALD BHA A EE 100,000& * 13/ 100
307 21201 A 750 500 250
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101 @124l 3,951 3,784 167
04 JI2ZtHZ22HEE = 3,951 3,784 167
O 2t = TH HH 2t 2 3,951
OoJlzs 44,6403 * 2H = 40 3,572
O=RH=RE= 3,571,200& * 4.5% 161
ORoAURHRRLS
3,571,200& = 2.945% 106
OFINRYEEERES 106,000& * 6.55% 7
OCLEEEERE= 3,571,200& * 1.5% 54
OdMEE = 3,571,200& * 1.42% 51
201 L4l 248,782 209,736 39,046
01 AFR 22l 36,042 49,432 A 13,390
os=2E M= 8,000
O MTIel 15 4,000& * 2,0000H 8,000
OSEMN S5 % BE =22
100,000& * 33l 300
oLHFA UM 45,0003 * 8=tA + 128 4,320
oYL= HRUY === 300,000& » 122 3,600
O=Z Z A 910
(OPSEES 56,9803 * 40H A 228
OFF-2=E0 137,800& » 30H A 414
osg=+ 267,700 *10H & 268
ORIE=E etd2el Xt w=l 100,000& =+ 23| 200
ODYItA erM 2| X WSl
100,000& * 1 100
oOaxgEd & W= 89 1Y
80,000& = 23 160
oAigotdze FRUYE =2
350& * 16,000m 5,600
OLYANE HSIs & === 2,000,000& 2,000
OAigotMate| X wsH| 200,000& » 19 200
OXESALXR HAstxted Pxz
500,000& = 104 = 13l 500
OATHMHUHXIZ 29 8,052
O+=2Z M 663 * 50,0000H 3,300
OZd=Zggd 23 7Y
99,000& * 45 * 204 * 62 4,752
EHIAL 25 Hel 700,000& * 32 2,100
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O2+H2NE BRAWBYLSE
330,000& = 402 = 123 15,840
O==2& |SX el 69,4403 * 6L + 128 5,000
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O&stx HFA 1,250,000& = 84 « 13l 10,000
Oz=E |RAE=H 59,918
Oogols = 4,569% * 4,313m’ 19,707
Odgolal2 MI1MAIZ 40008 = 2,460m 9,840
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o= =d 250,000& » 508 12,500
SHEH =4 200,000& = 103 2,000
O8I - SLANE =4 10,000,000& * 23] 20,000
OJl=HaMEa BRE A 2a 4,300
0023 =27 224, WAZ2IY
100,000& * 4304 4,300
O A& ZHI S X 23,000
OREANH 5,000,000& = 4CH 20,000
OA&ITH Ofl L X2 300,000& * 10CH 3,000
OWLEII| U LHAY L4
2,000,000& = 5JH A 10,000
O =l 44,782
oogolga (=22, M2 - 38AI=)
1,357& = 6AI2E = 104 = 100 » 30H A 24,426
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206 M= Hl 57,000 49,200 7,800
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Od2g a4z 50,0003 * 1208 = 204 4 1,200
ogs 30,000& = 10& = 10K 3,000
OHHLES 20,000& = 158 = 1004 3,000
Ot 223 20,000& = 10& = 1104 2,200
QIR E 40,000& * 10& = 104 4,000
(OF-=2oer 40,0003 = 5& = 1504 3,000
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O=23d ZHE9 /A 21,600,000&  1H 21,600
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O0golaa =2 JI2AXNES WA 105,930
O3 Atd| 250,000& = 400m’ 100,000
O& A& A 100,000,000& * 5.93% 5,930
OUH Z=3 SM(MEI| 201, L 201)
2,750,000& = 404 11,000
OxZx+ HdESA 15,000,000& * 23] 30,000
Oxd+ HEofl &X 6,000,000& = 23l 12,000
OM2HAI 2 E=xAl H24I SWEI| wH
17,000,000& 17,000
OM2TAI 2 H2 BEEYTF £X
4,500,000 4,500
ongols2 sE& cCTveE =
2,000,000& * 504 10,000
OM3TAIZ SEL3 J&ZFH W
25,000,000& 25,000
OFX& FHHl 100,000& = 200m 20,000
OM3H A2 d=I| M2 5,000,000& » 1H2 5,000
OM2MAl 2t B2 M2 L LBtEY|
5,000,000& * 10024 5,000
OAM AL AL M2 2 LBHEH|
1,000,000& * 50 A& 5,000
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1,000,000& * 2J0H A& 2,000
OUE 0l RAAILE, Tt S ME28 &M
20,000, 000& 20,000
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201 Let24dH] 29,770 8,530 21,240
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OsSAMAXe e+ Z 500,000& =« 23l 1,000
O2A=HIISHMel =2 50,000& * 123 600
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O =2 At Il =HI 90,000& » 39 270
OAt= AL o= 100,000& * 8¢ 800
OSE2 25 NY YXE 350,0008 * 23] 700
OSSXE UL AR THTY
100,000& * 102 1,000
02 2324l 17,600 2,100 15,500
Oost==s=& g3altl 3,000,000& = 12l 3,000
OMZHED & AM WS =l
300,000& = 23l 600
OS2 AST ULl Y L FL
50,000& * 2074 1,000
OSME A8 B 10,000, 000& 10,000
OEIHIAL AIE E= 3,000,000 3,000
206 M= Hl 342,775 303,513 39,262
01 M= 4l 342,775 303,513 39,262
SE AE F¥ 1,500& = 5500kel = 365¢ 301,125
o= 22l MHE= M=
35,000& * 50& = 73l 12,250
Os=A 228 2 25,000& = 100m 2,500
OssA 58 ¢ 5,000& » 100%Z 500
OsSSAM 83 EHINME 20,000& = 504 1,000
Os=2s & ZEE &K 500,000& = 2H 1,000
OsSZ8c+ 200,000& * 7H 1,400
Oos= 7¢ 20,000,000& * 135 20,000
oANgzel 235 € A2F 3,000
Ot RUE+=THE
30,000& = 5004 = 23] 3,000
401 Al HIZ 201 8] 152,000 59,200 92,800
01 A& HI 152,000 59,200 92,800
OUS A e+ WA 4,000,000& * 5042 20,000
OAMSAL SHAIE 228 10,000,000& * 1H2 10,000
OAsSES AL AIE i 20,000,000& * 10024 20,000
OW=A CHEAIE 227 3,000,000& * 3MH A 9,000
OZMSEMN S0IAE Ha
10,000,000 = 100 A 10,000
OZS AL &HetAIE 228 10,000,0008 * 100 A 10,000
ORXlote =8B Wi 3,500,000& = 204 7,000
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5,000,000& =* 2004 10,000
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10,000,000 = 1JH A 10,000
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o240 DM BAH 6,000,000& = 1JH A 6,000
O ALALAL 218 otA A X 10,000,000& 10,000
OS=dHA AN B 10,000, 000& 10,000
405 XHoHFE S HI 4,350 0 4,350
01 XA 2B F S| 4,350 0 4,350
ONNHBE 95 LHI| 7Y
500,000 = 4CH 2,000
OMEIHE®E OlSA AT g
350,000 = 1CH 350
Ossz&2l AN 2204
2,000,000 = 1CH 2,000
2SS Mg L g9 57,785 32,132 25,653
201 et Y| 7,285 4,132 3,153
01 AP 22| d| 5,000 2,500 2,500
OS2 X8 MEZ A 40,000& = 504 2,000
O=ssd& =22 500,000& = 33| 1,500
O0|MZ2=sH A AL 100,000& = 153 1,500
02 2%l 2,285 1,632 653
OA=)| |2l 755
OszrUI(3R) 1,685€ * 304 ~ 154 *~ 6& 455
OZ=2ldl 150,000 * 2CH 300
OssdsE8 ZAAHl £=2lt|
100,000& * 15CH 1,500
O0txlEs YoMl 30,0008 * 13l 30
206 M = dl 20,000 18,000 2,000
01 XH2 b 20,000 18,000 2,000
ossxzE 9o 27
000 ~ 20= ~ 10€& 20,000
405 XHAHFEIEHI 30,500 10,000 20,500
01 XA 2B F S| 30,500 10,000 20,500
ocXxgaAyol 30,000,000 * 1CH 30,000
OsSZ2=22Z A& It 2H(DSLR) 500,000 = 1CH 500
| SHSHENES 9 55,096 50,770 4,326
201 LBt ]| 28,680 24,680 4,000
01 AP 22| H| 2,000 2,000 0
OJI&EHIINE = ot HEH A
200 = 10,0008 2,000
03 A2 H HI 26,680 22,680 4,000
OJIE8s Hgus T2)dH 29 26,680
omyZ2I
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OxgoZe s dA+g
120,000& * 2% 202 4,800
OWsEMNE 2,000& = 5,000 10,000
206 = Hl 9,600 7,370 2,230
01 M2 4l 9,600 7,370 2,230
OJIZFHSIMEZ AL BEE L AR 9,600
(@R W EA = 600,000& * 8H 4,800
OO0l ZHI A &= 600,000& = 8H 4,800
301 gt L= 12,816 16,720 A 3,904
09 SALAHIEA S 12,816 16,720 A 3,904
OXESALA AUl XI& 12,816
OSAMEs 2l 10,0003 » 4% = 312¢& 12,480
O3g&FAT =AM 7,000& * 4H * 123 336
405 XHoHF S HI 4,000 2,000 2,000
02 = A=l 4,000 2,000 2,000
O M=l 4,000
OIS DS HSTHREN
4,000,000& = 13l 4,000
MATI2 EAI12 XI& 100,000 0 100,000
= 30,000
< 14,000
Al 56,000
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= 11,883
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= 3,732
Al 14,927
OsgZ2fsE 73,500& * 2H * 60 8,820
= 2,646
< 1,234
Al 4,940
C42E = 4,134
-—=2A=IR2EZ 35,476,080& * 4.5% 1,597
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< 223
Al 895
R
35,476,080& * 2.999% 1,064
= 319
= 150
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ool AL Y JAS RA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,120
202 044l 3,000 0 3,000
= 900
< 420
Al 1,680
01 = LH o4 1l 3,000 0 3,000
OsEZE 2¢ 0l 20,0008 = 3" * 50« 3,000
= 900
< 420
Al 1,680
206 M= Hl 10,000 0 10,000
= 3,000
< 1,400
Al 5,600
01 =8l 10,000 0 10,000
oA MEE 2 ¢ 1,000,000& = 105 10,000
= 3,000
< 1,400
Al 5,600
405 RHoHE S HI 19,500 0 19,500
= 5,850
= 2,731
Al 10,919
01 AL ESFHSH 19,500 0 19,500
OB4+HE FNUWHLSH Tl 2
19,500, 000& 19,500
= 5,850
< 2,731
Al 10,919
HE2IAZH (BT AE L) 817,581 756,810 60,771
ol 2 gl 407,645 384,780 22,865
ol Al 407,645 384,780 22,865
101 14 Hl 407,645 384,780 22,865
01 2= 143,299 134,004 9,295
OZN2 P+ (LBHE) 143,299
ONMAZREE
9,194 = 26% = 30AI2t = 128 86,056
Oggae+y
73,388% * 13F * 52 » 123 57,243
02 JIEtE B = 34,989 33,520 1,469
OFHJAZF(ANLEZHl) B 15,048
Oxzh2Zf=E 15,048
NEEELE
9,886 * 2H * 30AI2t » 123 7,118
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66,080& * 2H * 52 » 123 7,930
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PEREEE 19,941
OZN2L4Y 19,941
NEEELE
7,230% * 5  30AI2t » 122 13,014
Y294y
57,7203 * 2% * 52 x 123 6,927
03 RIAHAZZ2TE = 229,357
ogefExd 69,159
od=s(ta) 47,630
-104 Xt 20,890,000& * 1H 20,890
ZASINS 26,740,0008  1H 26,740
O=% 10,691
-IExg 1,680
- S X 40,000& = 28 = 12& 960
- &S 20,0003 = 3% ~ 123 720
ogaRsy
8,650% * 28 » 30AI2t » 12& 6,228
-0t X} 4 g
25,389,400% /3652 * 20 * 29 2,783
OZ 2 FItHl
25,389,400 /12& » 60% * 23] * 29X 5,078
O=&l 120,000& » 29 » 128 2,880
Oul SH| 120,000& » 2H » 128 2,880
Os=sA=s2eld 117,173
od=s(Ita) 74,420
219 Xt 30,440,000& * 1H 30,440
-11E Xt 23,940,000& * 1H 23,940
-43 Xt 20,040,000& * 19H 20,040
o=¢ 25,176
-IExg 2,880
B < Xt 40,000& = 3" = 12& 1,440
ZHl5 20,0003 = 6Y ~ 123 1,440
-HEI2Z2SY 268,500& = 3% = 123 9,666
-FY2RxE
8,950 = 8AlIZt = 32 * 128 * 3Y 7,733
-Hi=g
29,787,650& / 3652 x 202 * 3Y 4,897
OZEFotyl
29,787 ,650% /12& » 60% * 23] * 3H 8,937
O= &l 120,000& * 128 * 39Y 4,320
On et 120,000& » 128 » 39H 4,320
ou =l 450
o= 90,000& * 5H 450
O IJHA X & bl 755,000& = 12& 9,060
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chel: ol gyl CEEEED
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o254 969,560& * 12& 11,635
O4tiAISIBE Z JI2R2E2 21,880
O=0UAZIEES 207,477,000 * 4.5% 9,337
OlsEsEsedg=2 207,477 ,000& * 1.5% 3,113
OALEEZEL= 207,477 ,000& * 2.99% 6,204
O&IYBEHERH=
5,782,000 * 6.55% 379
Ol 28 & 196,312,000 = 1.45% 2,847
DIR= sl 409,936 372,030 37,906
Jl2&l 409,936 372,030 37,906
201 Bt A H| 374,336 336,470 37,866
01 AP 2t2l bl 64,544 58,818 5,726
OJl2gsd g3 11,366,000& 11,366
OE= AN 280
O2I8EX 20,000& *~ 6& 120
O MAEEX 80,0008 * 2& 160
oOjREFR=EZ 960
ORI 13,000 * S5JHAF » 128 780
O 15,000& = 1JHAF = 128 180
odHla 23 NE 100,000& * 33 » 200 A 600
OEI=D12 35 28,0008 * 45 * 23| » 20 A 448
OFZ& Il=4| 120,000& * 2% «* 23] 480
OZ2&H| JIEEH| 14,112,000& 14,112
od 240 deEz 38,000& = 8CH = 12&€ 3,648
O=28MA Ax= 1,500,000 1,500
ogx 4 31,150
O=2% 50,0008 * 1Y = 3952 19,750
og A 50,000& = 29 = 114 11,400
02 35244l 309,792 277,652 32,140
odIIR=2 201,000
orlE= 8,000& * 550kW » 12& 52,800
ONER= 130 * 95,000kW * 12& 148,200
OZHZHZLE HEESEES
100,000& = 39¥ 300
oRWER3 618
O H 2402 * 200 48
osJI2#H 1,900& = 300 570
OCIHYAIZZ 90,000& * 12& 1,080
OYUTHLIMAIAEY SANE S
242,000 * 12& 2,904
oOadt+==22 6,000,000 = 12& 72,000
osdINLRE 2 3,880
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M- BB S9(3H) - NSAY - BAS il

(OFak-— 1,700,000& * 23| 3,400
OXb & 60,000& = 408 * 23] 480
QuUESRYRHS 9,900
OA= 550& * 18,000 9,900
oOAHoIETV= & 50,000& * 123 600
(OPNE=PN; 3,280
OssEsg= 450,000 = 404 1,800
O0IEXEE = 100,000& = 8CH 800
O XS XA 480
-HRE(S5E) 150,000& * 104 * 23] 300
=== 30,000& = 3Ch * 23] 180
O&IIZAZE 50,000& * 4CH 200
O A& &Hl S Xl 14,230
O X=Xt 2,500,000& = 4CH 10,000
O& XK= AL 3,500,000 = 30H * 6% 630
OS=ANZ= 28t 0|E X 400,000 = 9CH 3,600

202 044 30,240 30,240

01 2L Yl 30,240 30,240
O J|IEZHI 30,240,000 30,240

203 R = Y| 5,360 5,320

02 HJAJNAHFFAH| 1,160 1,120
O©JI=H(100H MK ) 40,0008 * 29H 1,160

04 ENSHELRF=XH| 4,200 4,200
OJ|= (3002 0l5t) 350,000& = 12& 4,200




